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PART—I / Si9—I
CHILD DEVELOPMENT AND PEDAGOGY / fre Ramt ¢ frse-oot

Directions : Answer the following questions
by selecting the correct option :

1.

I/3-A

‘Cephalocaudal law’ is associated
with the

(A) growth

maturation

(B)

(C) emotion

(D) None of the above

‘Tri-dimensional theory’ of

intelligence was first proposed by
(A) Thurstone

(B) Spearman

(C) Guilford

(D) None of the above

To avoid gender biases in the class,
the teacher must be aware of the

(A) discriminative attitude of the

students

(B) stereotype attitude of the

students
(C) Both (A) and (B)

(D) None of the above
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4.

‘Embryonic stage’ of the
development refers to the period of

(A) 0-2 weeks
(B) 2-8 weeks
(C) 9-10 weeks

(D) None of the above

Which of the following is not a
criteria for good adjustment for a
learner?

(A) Self-knowledge
(B) Repression
(C) Self-control

(D) None of the above

Kohlberg divided moral development
into number of stages.

(A) 3
(B) 4
(C) 5

(D) None of the above

In a classroom situation, the total
number of blind students should be

(A) 4-6
(B) 7-9
(C) 10-12

(D) None of the above

I/3-A
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8. As the child grows, he develops

10.

(A) new needs

(B) disinterest

(C) unwillingness

(D) None of the above

The process by which the energies of
instinctive nature are utilized on
higher plane of action is called

(A) regression

(B) repression

(C) sublimation

(D) None of the above

The period of abstract thinking,
which is started from 15 years, has
been described by Piaget as

(A) period of concrete operation

(B) period of informal operation

(C) period of formal operation

(D) None of the above

I/3-A
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11.

12.

13.

I/3-A

‘Grade acceleration’
generally followed for

method is

(A) mentally retarded children

(B) physically handicapped children

(C) gifted children

(D) None of the above

’

Mental retardation is a condition
which generally starts from

(A) below 18 years

(B) above 18 years

(C) any time

(D) None of the above

Creativity is related with

(A) convergent thinking

(B) divergent thinking

(C) Both (A) and (B)

(D) None of the above
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14. Which of the following is not a

15.

16.

I/3-A

method of child-centric education?

(A) Group discussion

(B) Lecture method

(C) Role playing

(D) None of the above

Students who are enrolled in

inclusive classroom situation are

(A) disabled students

(B) abled students

(C) Both (A) and (B)

(D) None of the above

Down’s syndrome is
observed in

generally

(A) feebleminded children

(B) gifted children

(C) economically backward children

(D) None of the above
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17. Formula for calculating the | 17. P @@ 391 @i =
Educational Quotient (EQ) is
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20. The term ‘emotion’ is derived from

the Latin word
(A) Emovere
(B) D’movere
(C) Emotive

(D) None of the above

21. ‘Learning curve’ shows

(A) gradual
learning

changing process of

(B) gradual declining process of
learning

(C) ratio of learning

(D) None of the above

22. When the learner has been awarded
after a long time for his good work
then the intensity of the reinforcer
will be

(A) increased
(B) reduced
(C) same

(D) None of the above

23. Which of the following is not
acceptable in classroom teaching?

(A) Identifying the reinforcer

(B) Rendering punishment when
necessary

(C) Encouraging
learning

spontaneous

(D) None of the above

I/3-A
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24. In case of learning, the importance
of ‘insight’” was emphasized by

(A) psychoanalysts
(B) behaviourists
(C) structuralists

(D) None of the above

. In classroom situation, the emotion
fear’ of the learner is

(A) accelerator
(B) inhibitor
(C) not important at all

(D) None of the above

Programme of mid-day meal in the
school for the students, primarily
fulfills the motive of

(A) physiological need
(B) need for security

(C) need for self-respect

(D) None of the above

I/3-A
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27.

28.

29.

30.

I1/3-A

Which of the following is a widely
used approach of counselling?

(A) Conative behaviour approach
(B) Cognative behaviour approach
(C) Electro-convulsive therapy

(D) None of the above

The meaning of the terms guidance
and counselling is

(A) same
(B) different
(C) interchangeable

(D) None of the above

Which one of the following is not
treated as rights of children?

(A) Rights of education
(B) Rights of fulfilling all demands
(C) Rights of security

(D) None of the above

The type of counselling, which is
rendered in classroom situation, is a
technique of

(A) community counselling

(B) individual counselling

(C) group counselling

(D) None of the above
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PART—II : Language—I
ENGLISH

Directions Read the passage given
below and answer the questions (Q. Nos.
31 to 35) which follow by selecting the
correct option.

There are a lot of hill stations in India but
whenever one thinks of the most beautiful
among them, one thinks of Kashmir.
Kashmir is a beautiful valley having
mountains on all the sides. It has visitors
from within the country and abroad all year
round. It has Jhelum river flowing into it,
making it even more charming. It used to
be the summer residence of the Mughals
and was called ‘Garden of Eternal Spring’.
One can see roses and saffron grow for
miles and miles. A special perfume called
Tttar’ is made from them. The goats of
Kashmir give hair for the costly Pashmina
shawls famous all over. Forests are all over
the valley and the fruit trees are laden with

delicious and juicy apples, peaches,
strawberries, cherries, almonds and
walnuts. The fruit gardens are an

additional attraction for the tourists, who
come every year during summer. The
ancient architecture of Mughals is visible in
the world famous mosque of
‘Hazrat-e-Shahi’. Srinagar, the capital of
Kashmir, is famous for Dal Lake and the
houseboats. Other places of tourist
attraction include the famous resort of
Gulmarg for skiing, Pahalgam and
Sonmarg. The famous Hindu shrine of
Amarnath is also a part of Kashmir.

31. According to the passage, which is
the most beautiful hill station in
India?

(A) Shimla
(B) Manali
(C) Kashmir
(D) Ooty

I/3-A
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32.

33.

34,

35.

What is Tttar™?

(A) A special perfume

(B) The name of a river

(C) What Mughals called Kashmir

(D) The ‘Garden of Eternal Spring’

Which fruit is not found in Kashmir?
(A) Apple

(B) Apricot

(C) Strawberry

(D) Mango

Which shrine is located in Kashmir?
(A) Gulmarg

(B) Amarnath

(C) Badrinath

(D) Srinagar

According to the passage, Gulmarg
is famous for

(A) water sports
(B) golf
(C) skiing

(D) cycling

[ P.T.O.




Directions Read the poem given
below and answer the questions (Q. Nos.
36 to 40) which follow by selecting the
correct option.

Just Home and Love! the words are small
Four little letters unto each;

And yet you will not find in all

The wide and gracious range of speech
Two more so tenderly complete :

When angels talk in Heaven above,

I'm sure they have no words more sweet
Than Home and Love.

Just Home and Love! it’s hard to guess
Which of the two were best to gain;
Home without Love is bitterness;

Love without Home is often pain.

No! each alone will seldom do;
Somehow they travel hand and glove :
If you win one you must have two,
Both Home and Love.

And if you’ve both, well then I'm sure
You ought to sing the whole day long;
It doesn’t matter if you’re poor

With these to make divine your song.
And so I praisefully repeat,

When angels talk in Heaven above,
There are no words more simply sweet
Than Home and Love.

36. The rhyming scheme of the poem is
(A) abab
(B) abca
(C) aaba
(D) None of the above

37. The term ‘hand and glove’ means

(A) covering your hand in cold
weather

(B) complementing each other
(C) doctor preparing for a surgery

(D) seeing if a glove fits your hand
well

I1/3-A

12

38. Divine’ in the poem is related to

39.

(A) earthly

(B) connected with God
(C) corporeal

(D) mortal

Which two words, according to the
poet, are very sweet?

(A) Hand and Glove

(B) Home and Love

(C) Angels and Heaven

(D) None of the above

What is the synonym of ‘tenderly”?

(A) Delicately

(B) Gentle

(C) Ginger

(D) None of the above




Directions : (Q. Nos. 41 to 45) Fill in the
blanks taking the appropriate alternatives
from among the given options in each of the
following.

41.

42.

43.

I/3-A

45.

She does not eat ___ chicken.
(A) the

(B) an

€ a

(D) None of the above

one do you prefer : tea or
coffee?

(A) Who

(B) Where

(C) Which

(D) None of the above

He had to repent what he had
done.

(A) of
(B) at
(C) over

(D) for

A strong wind _____ since last night.
(A) blew

(B) is blowing

(C) was blowing

(D) has been blowing

I saw _____ in the mirror.
(A) our

(B) mine

(C) myself

(D) None of the above

13

46.

47.

The austere clothing worn by
members of the religious order
reflected their humble and modest
lifestyle. ‘Austere’ means

(A) untidy

(B) outrageous

(C) cluttered

(D) simple and plain

Mark the opposite of the

word ‘Attract’.

(A) Repel

(B) Frustrate

(C) Disappoint

(D) None of the above

[ P.T.O.
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48.

49,

50.

I/3-A

Fil in the blank with the
appropriate question tag :
Ganesh borrowed
yesterday,

my coat

(A) did he?
(B) didn’t he?
(C) Isn’t he?

(D) wasn’t he?

‘Concord’ means
(A) the agreement of the verb with
the subject

(B) giving special importance to one
part of a word or a sentence

(C) the style used in ordinary
conversation
(D) a group of words with a special

meaning

Choose the appropriate ‘wh’ word
from the following to frame question
so as to get the underlined words as
answer :

Ram runs with his dog on Sundays.
(A) What
(B) When

(C) Whose

(D) How

14

51.

52.

53.

The underlined word in ‘Beginning a
new movie is difficult’ is

(A) verb
(B) participle
(C) gerund

(D) None of the above

A person who decides cases in law
court is a/an

(A) lawyer
(B) adwvocate
(C) policeman

(D) judge

Phoneme is

(A) the smallest meaningful unit in
the sound system of a language

(B) the smallest unit of form that
has meaning in a given
language

(C) a combination of a vowel and a

glide

(D) None of the above

s



54. What is IPA? Directions : (Q. Nos. 57 to 60) Fill in the
blanks with appropriate alternatives given

(A) Indian People’s Association Below ;
57. Reading is a skill.
(B) Indian Phonetic Association )
(A) receptive
(C) International Phonetic Alphabet (B) productive

(D) None of the above (£} Both. ol the shaye

(D) None of the above

55. The specific objective(s) of teaching

58. is th ldest f
and. lesrning Eoghish isfare is e oldest method o

teaching English in India.

(A) proficiency in learning the (A) Direct method
language
(B) Grammar-translation method
(B) abilities of reading and writing (C) Communicative approach
(C) abilities of listening, speaking, (D) Structural approach

reading and writing with
reference to certain language
materials which obviously shall 59. At a later stage, oral composition
comprise structural or lexical can be taught through .

items o
(A) dramatization

(D) None of the above (B) conversation
(C) dialogue
56. Acquisition of language means (D) All of the above
picking up of language in a/an
- i t i .
(A) ificial setting 60 is not a classical language
(A) Arabic
(B) natural setting
(B) English
(C) tutorial setting (C) Sanskrit
(D) None of the above (D) Latin
I/3-A 15 [ P.T.O.
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(D) =&F=1 FFe

R+TE—IS I T3
(A) “RpE
(B) *RvE
(C) *wE

(D) *Re5%

FafERe Imehr T @b uw ?
(A) = vadl R Teifgs |

(B) Rrmd SRPICE “faRa Fevce |
(C) Fro1 Fro1 wesfE Yfbes A9 |

(D) 793 fressid w21 |




83. FfafRe e 3 w=izne 3 7 2 87. GI¥-(FPE e 3CE A

(A) 7 (A) Frfie @R senem s
B) ® (B) &1 CFINR THTCH

©) 7 (C) *R™ (¥R M4

D) 5 (D) Toizm SRefH

88. Pre¥icm Torfda w3 a5z 31 =
84. & =mIY il > *Rufei—afs @R

TP ? (A) FrseeR T
(A) w4 > (B) *Arwer M
(B) SR WP (C) AY-=Rrwrem T4y
e — (D) YERCTR TN
(D) f&g > 89. TIPSR MUCH Fremicaa Sewmy 23
(A) O SRE PEEE e SR oo
85. ‘fem’ e Refie wel == AH Q@R
(A) oem (B) S SRM ORMT A TSR TR
Pl
— (C) Ruwmm 181 Frwfiv eicaem sy
(C) == A IR S
) 7 i oo xR
S8, oo el oo e e et 90. Tﬁnﬂm«mﬁm RIm 9o 97 =@
(A) ORISR el (A) TS e =1 3
(B) *RrFIAFSICA (T GR2 (RN (B) T +Fr1 7 o7
(C) TeifEs w1 (C) TIsTe spEfrss-frda 1 2 “ts
(D) =R SRl (D) Rem afS wftwen seamnd =
1/3-A 19 [ P.T.O.
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PART—IV / Si9—IV
MATHEMATICS / sf4®

Directions : Answer the following questions
by selecting the correct option.

91.

92.

93.

94.

If an angle is eight times its
complementary angle, then the
measurement of the angle is

(A) 20°

(B) 40°

(C) 80°

(D) 60°

An exterior angle of a triangle is
110°. If one of the opposite interior
angles is 30° then the other two
angles of the triangle are

(A) 40°, 110°

(B) 70°, 80°

(C) 60°, 90°

(D) S0°, 100°

Which one of the following letters is
a symmetrical figure?

(A) E

(B) N

(C) M

(D) None of the above

The length and breadth of a
rectangular field are 8 m and 6 m
respectively. The length of the
largest rod which can be put in the
field is

(A) 10 m
B) Sm
(C) 8 m
(D) 6 m

fitrer « e Tex Fdma w3 Tesw ameki
Tag ws |

91.

92.

93.

94.

T @A PR T SR T (PR
qHR 2, 1 @ @b I7 3

(A) 20°

(B) 40°

(C) 80°

(D) 60°

@ fageen @9l R @ W
110°. I @7 @3 ReFe w@s7 @R
M 30° =W, O3 fagwina o) 1fo @
T T

(A) 40°, 110°

(B) 70°, 80°

(C) 60°, 90°

(D) 50°, 100°

TR @ = ofeom wgfer
(A) E

(B) N

(C) M

(D) TR @m0z =9

G TFEFR T2F 7 933 2% JAEC
8 1. «= 6 .| Mfbre R@W W @
w8 74 I3 7 O 2@

(A) 10 f3.
B) 5.
(C) 8fu.
(D) 6 f.

I/3-A

SPACE FOR ROUGH WORK / % F&9 G+ G4
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95. Two cubes each of edge 4cm are | 95. 4 Gifd. ARIRGE 7o e Aot
joined end-to-end. The surface area TIT (7S T | 21 SO0 FATSE
of the resulting cuboid is CFaTe 33
(A) 192 cm? (A) 192 ¢ifa.2
(B) 96 cm? (B) 96 @ifa.2
(C) 260 cm? (C) 260 @1.f2.2
(D) 160 ecm? D) 160 GiR.2

9. If ﬁ be th‘:icl‘;“;":dth“"fﬁ“ m‘;t";? 96. I QN T TFE CFTT G
Sphere an x TAC Velithe G fha WS @A S @RV W, SE@ Q
sphere, then the relation between (TP V @9 S-47 04 57ofd 27
V and S of the sphere will be : ’
A) 36nv2=g3 @) 367V2=5°
(B] 641:V2 =SS (B) 64TI:V2 =SS
(©) 64nV2 = 52 (C) 64nV? =52
(D) 36nV2 =52 (D) 36nV* =57

97. A cube and a sphere have equal 97. @ TR @ Ik COTPICR F2SC
surface area. The ratio of their (AT T A SR SRS AT
volumes is X
(A) n:6 (A) m:6
(B) vrn:V6 (B) Vn:J/6
(©) n?:62 (C) n?2:62
(D) =3 :63 (D) n3:63

SPACE FOR ROUGH WORK / ¥ FCEF S S
I/3-A 21 [ P.T.O.




98.

99.

100.

Pipe A can fill a water tank in
45 minutes and pipe B can empty it
in 30 minutes. If both the pipes are
opened when the tank is empty, the
tank will be filled in

(A) 18 minutes

(B) 90 minutes

(C) The tank can never be filled in

(D) None of the above

A can do a job alone in 24 days.
Bis 50% more efficient than A. Then
B alone can finish the job in

(A) 12 days

(B) 18 days

(C) 10 days

(D) 16 days

A train starts from Agartala at
6:30 a.m. on Monday and reached
Delhi on Thursday at 8:10 a.m. The
total duration of time taken by the
train from Agartala to Delhi is

(A) 73 hours 40 minutes

(B) 74 hours 40 minutes

(C) 73 hours 20 minutes

(D) None of the above

98. I TR A 7 A 45 WG 49 =

99.

100.

e B 7@ @Al 30 fFG W =i
SRR A SRER T o P
28 TR o 2SR G T FAISI
(A) 18 ffiG

(B) 90 fife

(C) wEemyEL e 9 =3 =

(D) Totad (@R T

A 931 G IrE 24 e " @ | B,
A-97 (5T 50% @ 7% | OZE B @
FEH R FAAE

A 12 "=

B 18 &=

(C) 10 &=

(D) 16 &=

aFH G TeETE (W CTHEE eE
6 5130 BRG aew Fa 3Tofear @
8% 10 RRG #& hwe G
TeEeE (903 al CTers (@6 T &9
(A) 73 9%1 40 %
(B) 74 9% 40 fif5
(C) 73 9% 20 ffIo

(D) T (IR

I/3-A

SPACE FOR ROUGH WORK / 9% J[HI &= &R
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101. A bus covers a distance in | 101. w36 IN 48RR/eH T o
50 minutes, if it runs at 48 km/hr 50 g9 e WY W@ I |
on an average speed. The speed at 40 AT @ = wfeww Face 21 i
which the bus must run to reduce @ T 2O I
the time of journey to 40 minutes '
will be (4) 40 RR./3%
(A) 40 km/hr (B) 60 .M. /9%
(B) 60 km/hr (C) 50 f¥f. /a8
(C) 50 km/hr (D) 30 .M. /9%
(D) 30 km/hr
102. The HCF of two numbers is 144 and | 192" gzsoq‘?g a;gﬁﬁ = ?%23&
their LCM is 2880. If one of the e i ’ ‘
numbers is 720, then the other N 23
number is (A) 576
(A) 576 (B) 756
(B) 756 (C) 675
(C) 675 (D) 288
(D) 288
103. 1000 €32 2000-43 F4TS! GIB SRACH
103. A number lying between 1000 and E . -
: 2,3, 4,5, 6,7 SR 8 TR T T
2000 is such that on division by 2, . .
IS INHFA 1,72, 3, 4, 5, 6 GR 7
3, 4, 5, 6, 7 and 8 leaves the | e
remainders 1, 2, 3, 4, 5, 6 and 7 SR 3
respectively. The number is (A) 1876
(A) 1876 (B) 1774
(B) 1774 (C) 1679
(© 1679 (D) ToER @M T
(D) None of the above
104, (21,001 09 009)_, 104. [00'011+ 06011 —00'099 - anggJ =7
1001 01 009 09 ' ' '
@) 2 (A) 2
(B) 1-01 (B) 1-01
(C) 10-1 (C) 10-1
(D) O (D) O
SPACE FOR ROUGH WORK / q1¥ J[(Sd = s
1/3-A 23 [ P.T.O.




105. The least number among (0-5)2, | 105. (0-52, ./0-49, J0-008 @R 0-23

,/0-49, 30.008 and 0-23 is RANGTAR T FHeq WY 2
(&) (057 (A) (057

(B) 30-008 (B) 3/0-008

(C) 0-23 (C) 0-23

(D) 0-49 (D) 0-49

106. In an examination, Nisha obtained | 106. @& *@r=w 1 650 5@ W 312

312 marks out of 650. What TEE TR | (7 TS Mo 9 (ERE ?
percentage of marks did she get?

A) 48%
(A) 48% -
38%
(B) 38% =
(C) 46%
(C) 46%
(D) 52% S

107. ¥ 270 A, B & C-93 T4 GITSKA Sl
3 H IS A-97 X B—m%w

T GR B-<¥ WX C-4¥ 3 SR TN

107. If ¥ 270 is divided among A, B and C
such that A’s portion is equal to 4rd

of B’s portion and B’s portion is

equal to %th of C’s portion, then the Wl A, B GR C-G1 21°7 DR R
share of each of A, B and C will be =

(A) €90, ¥60 and ¥ 120 (&) ¥90, ¥ 60 @R ¥ 120

(B) ¥ 120, ¥ 60 and ¥ 90 (B) ¥ 120, ¥60 9R ¥ 90

(C) ¥60, F90 and ¥ 120 (C) #60, ¥ 90 g} ¥ 120

(D) None of the above (D) T3 IR T

SPACE FOR ROUGH WORK / ¥ JEq G« §ReN

I/3-A 24
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108. The average of all odd numbers

between 20 and 30 is
(A) 23
(B) 24
(C) 25
(D) 26

108. 20 4R 30-9F FURE! A SRIAPTYCZA

TS T3
(A) 23
(B) 24
(C) 25
(D) 26

109. If the cost price of 8 pencils is equal 109. i 87 cifitem 3 Il:ﬁéﬁ AP
to the selling price of 10 pencils, e R GUARG RS AN
then the loss percent is RS
(A) 20% (A} 20%

0,
B) 25% (B) 25%
C) 15%
(C) 15% & 15%
(D) 16%
(D) 16%
110. 3t 136 a1 715 %91 AR ez e

110. If 13 buses can carry 715 AR, S 25 I R ARz Tare
passengers, then 25 buses can carry AR
(A) 1275 passengers (A) 1275 &+
(B) 1375 passengers (B) 1375 &

(C) 1475 passengers (C) 1475 &+
(D) 1575 passengers (D) 1575 &

111. If a man spends ¥ 875 per month 111. I e IS of% I 875 By 2@
and saves 12 % of his income, then I R TR WA 121 % SHew 70,
his monthly income is TR O NI W 23
(A) ¥950 (A) ¥950
(B) ¥ 1,060 (B) ¥ 1,060
(C) ¥ 1,250 (C) ¥1,250
(D) ¥ 1,000 (D) ¥ 1,000

SPACE FOR ROUGH WORK / 1% JI1(&S & SH9|
I/3-A 25 [ P.T.O.




112,

113.

114,

Everyday Manik runs 8 rounds of
a square field with each side
measuring 350m. How much
distance does he run everyday?

(A) 11 km 200 m
(B) 11 km 800 m
(C) 12 km 400 m

(D) 12 km 80 m

The value of
[1_1)[1_1)(1_l] ........ (1-L)
2 3 4 40
on simplification is

(A) O

(B) ==
€ ==

(D)

The ratio of two numbers is 4 :5 and
LCM is 100. The two numbers are

(A) 20, 25
(B) 30, 40
(C) 40, 50

(D) None of the above

112. s Tffe <36 3sferm 0 Wt

113.

114.

oM FCA| WA e ficer ofkme
350 f.1 wiAe =ffta & affma e
ST 32

(A) 11 .. 200 fi.
(B) 11 .M. 800 fi.
(©) 12 &f. 400 fi.
(D) 12 &.f. 80 .

o2 r-

SRS T T

(A) O

(B) -
€

(D)

7 SRR TS 4:5 3R #8100
2 R Y 23

(A) 20, 25
(B) 30, 40
(C) 40, 50
(D) TR @R T

SPACE FOR ROUGH WORK / 1% JEI T GHS

I/3-A 26
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115. The object of teaching number | 115. 2MRF-TFE Fodom M 2@
system to primary-stage students is (number system) CRICAE ST 25
to enable the students

(A) =T % o3 AR A

(A) to count up to 6 digits

(B) RIUMCF *TSF, WF IR GIFF-99

(B) to see the numbers as group of IS WA AT €92 TN S

hundreds, tens and ones and Seferar e

understand the significance of

place value

(C) PR =B Y[ @9 8 R «|

(C) to master the skill of addition Frm PfRey o =

and subtraction of four-digit

number (D) I SRANF *1%ce A-A G Rk

ki |

(D) to master the skill of reading
large number

116. ‘“‘Things are numbers”’ Tf&f

Feafece
116. “Things are numbers” is quoted by
(A) e
(A) Euler
. (B) SnfffT
(B) Archimedes
(€) fmsiar

(C) Pythagoras

(D) None of them (D) TotRA FT T

117. CCE provides feedback to 117. CCE afSf& 2
(A) the child (A) frets
(B) the parents (B) Premmes
(C) the teacher (C) Presce
(D) All of the above (D) TR ATIFCRE

SPACE FOR ROUGH WORK / ¥ FI&q &« &

I/3-A 27 [ P.T.O.




118.

119.

120.

A method in which a mathematical
problem dividing into some simple
parts and then making interrelation
between the different parts, is called
(A) analytic method
(B) synthetic method

(C) inductive method

(D) None of the above

‘Mathematics Day’ is observed on
(A) 20th December
(B) 21st December
(C) 22nd December

(D) None of the above

If CA denotes chronological age and
MA denotes mental age, then to
determine intelligent quotient (IQ),
the mathematical formula is

CA
A) 1Q=——x100
B 1Q=g X

MA
B) IQ=——-x100
B 1Q=5X

MA x CA
G Ig= e
€) IQ 100

(D) None of the above

118. @ *Mafers (@Al MEAfSs FTPms Faed

119.

120.

FEFH A W oT @ @ ASER
Ty ok e 1 =, O oafel =

() T =l
(B) AT *wfe
(C) AR *fafe
(D) Toeaa D Ty

‘sifre et oiem s =
(A) 200 R |

(B) 21¢% ferrR

(C) 22¢% o

(D) T3 @vE W

3% 2% T (chronological age) CA

%[ @32 TFPE 789 (mental age) MA

=@ vffoe =, =@ T@% (1Q) fdfa Fam
4ib 2

(A) 10 =9M%x100

MA
B) IQ=——x100
(B) 1Q= 5, 10

MA x CA
6) Iga————
€) 1IQ 100

(D) Totad (b2 A

SPACE FOR ROUGH WORK / 9% SI(&q G« GEM




PART—V / SI5—V
ENVIRONMENTAL STUDIES / “fstif@m

Directions : Answer the following questions | fAzif e : 3¢ Toy v @ Tsa eryafem
by selecting the correct option. Tag W1e |
121. ‘Nuclear family’ means 121, ‘A9 ARER TS @RIE
(A) husband and wife A) TR @R [
(B) parents and their children (B) Prei-wrel @32 O WAl
(®)] pa.zlcm;;, children, grandparents (©) Pro-wrel, @R, Promz-Premd)
D ;n y fcf: b o '
e of the above
0 S (D) o DR
122. Phyllode occurs in which of the
following plants? 122. e @m Sfenfcs #fqs o Tm 2
(A) Opuntia (A) T
(B) Acacia (B) S@Pia
(C) Asparagus (C) ‘Iﬁs{gﬂ
(D) None of the above (D) TR @R T
123. The fruit which is produced in T .
tomato plant is 133. « oo 2, Gt 2
(A) drupe type (A) g1 ST
(B) pepo type (B) cofeell wem
(C) berry type (C) @R wrom
(D) None of the above (D) TocEd (62 78
124. Which chemical substance is the | j54 C, TR SEATRCE T wTeR
Brst s'.ﬁable P FotucE Gl PhOtf)_ ™R @ IR e 2w wlena
synthesis during dark reaction in Beoi 21 2
C3 plants? )
(A) Oxaloacetic acid (A) ST =T
(B) 3-phosphoglyceraldehyde (B) 3-FHACIARRT
(C) 3-phosphoglyceric acid (C) 3-wicwiaenfse smhe
(D) None of the above (D) TR (FFOIR T
125. i\:Vhat is t;let;:lommo_n :lharacteri?itzilc 125. WH’ w g2 WY AP
eature of the animals pangolin, AR el DR AR
armadillo and sloth? &
(A) All are anteaters (&) A 2
(B) All are hervivorous (B) >R
(C) All are aquatic inhabitants (C) R &Ca TRERR
(D) None of the above (D) TR (@D W
I/3-A 29 [ P.T.O.
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126.

127.

128.

129.

The project Buxa Tiger Reserve is
situated in which of the following
States?

(A) West Bengal

(B) Assam

(C) Gujarat

(D) None of the above

Goitre disease is caused due to
deficiency of what?

(A) Iron

(B) Potassium

(C) lodine

(D) None of the above

Which of the following is the carrier
of the pathogen of dengue fever?

(A) Aedes mosquito

(B) Culex mosquito

(C) Anopheles mosquito
(D) None of the above

What is the breadth of the metre
gauge line of the Indian Railways?

(A) 610 mm
(B) 762 mm
(C) 1000 mm
(D) None of the above

130. Which of the following chemicals

I1/3-A

is mainly responsible for ozone
depletion?

(A) Chlorofluorocarbon
(B) Polyphenol

(C) Dioxin

(D) None of the above

126.

127.

128.

129.

130.

e oM e I T
2FE0 SRFS 2

(A) Ao

(B) =FIH

(C) =AM

(D) TR IR T

RO @9t PR SeREe IR =2
(A) @=

(B) o

(C) et

(D) THHA FIOR W

fafAfe @mb oo @z SR s 2
(A) @

(B) fces

(C) STCEfEs

(D) ToCaq (P10 T

TROW @ER O/ (1w Az Feh! 5y 2
(A) 610 Rf.

(B) 762 fi.f.

(C) 1000 fafi.

(D) Tocaa FFOIR 7TH




131.

133.

134.

135.

I/3-A

Which of the following gases is not
an air pollutant?

(A) Carbon monoxide
(B) Nitrogen dioxide
(C) Nitrogen

(D) None of the above

. The violent tropical storm seen in

the Indian Ocean is called
(A) typhoon

(B) cyclone

(C) hurricane

(D) None of the above

What is the name of the chemical
which was responsible for Bhopal
Gas Tragedy?

(A) Methyl isocyanate
(B) Benzene hexachloride
(C) Trinitrotoluene

(D) None of the above

Which of the following acts as the
main source of groundwater?

(A) River
(B) Rain
(C) Canal
(D) None of the above

In which of the following lists all
natural resources are renewable?

(A) Nuclear energy, natural gas,
petroleum, coal
(B) Water, solar energy, wind,

geothermal energy resource

(C) Solar energy, nuclear energy,

wind, natural gas

(D) None of the above

31

131. RS siriskR T @l apEeE

132.

133.

134.

135.

-

ST +7%1 2

(A) IR TCARIEZS

(B) AEGCE wi2-SHR

(C) TEcgCe

(D) TR FFBR T

THO WP @ 2be fedm s @
W, ST I W

(A) BrRFH

(B) @M

(C) R

(D) TR (IR W

$E S0P (EOAR W WAl SPTERe
“miefioa = 5 2

(A) ez SREPRD

(B) R (TGRS

(C) TR

(D) oz @IbiR W

fafiRe @m gordr wem Tt R
IS FCA 2

(A)

(B) 3f

(C) =wem

(D) TR (FHR T

RS @m efemiee web agies

=% HAPATCIIN 2

A) e e, agfes oM,
Cofgifermm, e

(B) ¥, e, |, T-9Aw
o

(C) O, ermeaRe =fE, 3w,
AP

(D) ToCEa @R T

[ P.T.O.




136.

137.

138.

139.

140.

I/3-A

The example of an artificial

ecosystem is

(A) ecosystem of a pond
(B) ecosystem of a forest
(C) ecosystem of grassland

(D) None of the above

The energy flow in an ecosystem
follows which of the following laws of
Lindeman?

(A) Lindeman’s law of 5%
(B) Lindeman’s law of 10%
(C) Lindeman’s law of 15%
(D) None of the above

Consequence of deforestration is
(A) flood

(B) reduced rainfall

(C) Both of the above

(D) None of the above

The source of energy which does not
produce carbon dioxide is

(A) nuclear energy

(B) coal

(C) organic compound

(D) None of the above

Which of the following soil layers
contains humus?

(A) A-horizon

(B) B-horizon

(C) C-horizon

(D) None of the above

136.

137.

138.

139.

140.

G3fo Plaw IFOCH TR =@
(A) TR IrEeT

(B) ISR IIEeT

(C) $Tefm TEeg

(D) Tocza (FTBR W
ey e e fafiie
(P ST A 03 2

(A) FiemER 5% @

(B) PSR 10% 4

(C) Feremm™ 15% @

(D) TCER (TR T

T FOR AR 2=
(A) ZFm

(B) i

(C) otz b2

(D) Tocaa (FIHER W
@ ¥Eq T I TRTHRT Teo IR
=, Ol =&

() fTHm =&

(B) <%=

(C) C&a (Tl

(D) o3 (FIHIE W

frafee @ Ifew waftcs Ran a2
(A) A-BR

(B) B-®A

(C) C-=

(D) TR (PIOIR T




141.

142.

143.

144,

145,

I/3-A

The longest river in Tripura is
(A) Manu river

(B) Gomti river

(C) Deo river

(D) None of the above

The largest district in Tripura is
(A) West Tripura

(B) North Tripura

(C) Dhalai

(D) None of the above

Dodo is

(A) an extinct bird

(B) an endangered bird
(C) a rare bird

(D) None of the above

Which of the following species has
been declared extinct in India?

(A) Blackbuck

(B) Asiatic cheetah
(C) Red panda

(D) None of the above

Conservation of species outside their
natural habitat is called
(A) n-situ conservation
(B) in-vivo conservation
(C) ex-situ conservation

(D) None of the above

141.

142.

143.

144,

145.

T Tidfew b 2=
(A) =

(B) Corma®t =

(C) e+t

(D) Tofcaa FIOR W

faeEm 3289 @ 2=
(A) =¥ faem

(B) Tex faom

(C) %R

(D) ®otaa (FFbR T

AR |

(A) @3 Ry Al
(B) «f5 Rem =1
(C) «=f> Rz =i
(D) o RIBIR T
framRe @ 2@ srerd Rag w=
(IS 20ACR ?

(A) F 2

(B) «@¥m foer

(C) =& sl

(D) Tofcaa (IR W

TR owfer ©IoW ARpfed AR
A T FACE @ D

(A) - ez
(B) Z7-fecer sieamel
(C) @3- S
(D) TR (DR T

[ P.T.O.




146.

147,

148.

149.

150.

I/3-A

In which
Environmental
passed?

year was

Protection Act

(A) 1981
(B) 1986
(C) 1980
(D) None of the above

Which of the following communities

in India is well-known for protecting
blackbuck?

(A) Bheel

(B) Santhal

(C) Bishnoi

(D) None of the above

Kyoto Protocol is concerned with
what?

(A) Climate change
(B) Global warming
(C) Groundwater pollution

(D) None of the above

The main component of compressed
natural gas (CNGQG) is

(A) ethane
(B)
(C) butane
(D)

methane

None of the above

Green Revolution in India was
initiated by

(A) Sundarlal Bahuguna
(B) M. S. Swaminathan
(C) Salim Al

(D) None of them

146.

147.

148.

149,

150.

[T ST FEFTE 2D RS ZEARE
P AT 2

(A) 1981
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1.

READ THE FOLLOWING INSTRUCTIONS CAREFULLY :

Fafeie FotRet e 3t =g :

Out of the four alternatives for each question, only one circle for the correct answer is to be darkened
completely with Black Ballpoint Pen on the OMR Answer Sheet. The answer once marked is not liable to be
changed.

2ffSf 2eas Taq Roa @ vl Rew crem we © (03 By W% TeRia aifte OMR TeReica crent 33ib e 39 TS
o AR ST I A B I I | W Tay ©fEe W ooew O W oA I A AL

2. The candidates should ensure that the Answer Sheet is not folded. Do not make any stray marks on the Answer
Sheet. Do not write your Roll No. anywhere else except at the specified space on the OMR Answer Sheet.
T (FHESEE OMR Toremafs S1% 4037 71 | OMR QoL (FHEHFH W9 F101 I T9) (3791 T3 =11 | *ArwiRa Sova
@ g Seneia AR 1 wEen e = e wHem e A

3. Handle the Question Booklet and Answer Sheet with utmost care, as under no circumstances (except |
technical defect), another set will be provided.

OMR TE2°@ G2 21 ICTR JICA TS TSF S ST FACS XF | (FA'S TIFLSE (Y FlH '€ *Fafeors Ffo Wel) OMR &7
@ 21e1q *T% (TSN AL 1 |

4. The candidates will write the correct Question Booklet Number and OMR Answer Sheet Number in the
Attendance Sheet.

AT WS Ao-9 O OMR TEI AW 794 G2 o 197 Fgerena forwee =3 |

5. Candidates are not allowed to carry any textual material, printed or written, bits of papers, pager, mobile
phone, electronic devices or any other material except the Admit Card and Photo Identity Card inside the
Examination Hall/Room.

AR TS FTE G FTH FRLTADL SIS RIS o0 (TN QAT I (oY1 P90, °{ & JHTES A, (&, (2 T,
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6. Each candidate must show on demand his/her Admit Card and Photo Identity Card to the
Invigilator/Examination Offcials.
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7. No candidate, without special permission of the Centre Superintendent or Invigilator, should leave his/her
seat.

CTOR JJerfeebaees a1 Tefata-aa Rom wfd we ARl A w5 Or T o Reds s mm

8. Candidates will have to sign twice in the Attendance Sheet presented by the Invigilator on duty; first after
taking their seats in the Examination Hall/Room and second at the time of handing over their OMR Answer
Sheet to the Invigilator.

AR TASRTAGER Crem THS™ Mh 2R TrF FACS T3, ALRR “Arw o $I07s WPH IR 7 3 alrrm
ieRatem 96 OMR Tagem@ w1 (ReuR WA |

9. The candidates should not leave the Examination Hall/Room without handing over their OMR Answer Sheet
to the Invigilator on duty and signed the Attendance Sheet twice. Cases where a candidate has not signed
the Attendance Sheet a second time will be deemed not to have handed over the Answer Sheet and dealt with
as an unfair means case.

SRHCSH Ao- IR T I G2 FEIAS LA GCe107 -7 15 Tazera w1 creat I (IS *Rrmd «Arw = o IR0
R 1 | Tt @ R W Mo- YRR T 1 A B0 o O OMR Te=oi@ =1 FC 3071 91 A G 9
wefoe IR o @ I |

10. Use of any type of calculating device is prohibited.
@ FAS WA PP IR Tyfancet il |

11. The candidates are governed by all rules and regulations of the Board with regard to their conduct in the
Examination Hall/Room. All cases of unfair means will be dealt with as per rules and regulations of the
Board.
A1 29 /I0F WA RAIFITR WA QAR P ¢ PP SRl sitte =23 | R WeR wte I @nds B e o
S e =3

12. No part of the Question Booklet and OMR Answer Sheet shall be detached under any circumstances.
WS IR I 93 OMR TERIF (FIHS WY (R¥I I AW I T 1 |

13. On completion of the test the candidate must hand over the OMR Answer Sheet to the Invigilator in the
Hall/Room. The candidates are allowed to take away this Question Booklet with them.
A1 T8 RSAR (A *RAPFIR ST EA OMR TE@ FETAC TASIUCADLIA IR &1 (L3 | *RAIWIRNa] R 2rofait S ey
e e oA |

1/3-A 36 KK6—180x3




READ THE FOLLOWING INSTRUCTIONS CAREFULLY :
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1. Out of the four alternatives for each question, only one circle for the correct answer is to be darkened
completely with Black Ballpoint Pen on the OMR Answer Sheet. The answer once marked is not liable to be
changed.
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2. The candidates should ensure that the Answer Sheet is not folded. Do not make any stray marks on the Answer
Sheet. Do not write your Roll No. anywhere else except at the specified space on the OMR Answer Sheet.
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3. Handle the Question Booklet and Answer Sheet with utmost care, as under no circumstances (except |
technical defect), another set will be provided.
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4. The candidates will write the correct Question Booklet Number and OMR Answer Sheet Number in the
Attendance Sheet.
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5. Candidates are not allowed to carry any textual material, printed or written, bits of papers, pager, mobile
phone, electronic devices or any other material except the Admit Card and Photo Identity Card inside the
Examination Hall/Room.
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6. Each candidate must show on demand his/her Admit Card and Photo Identity Card to the
Invigilator/ Examination Offcials.
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7. No candidate, without special permission of the Centre Superintendent or Invigilator, should leave his/her
seat.
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8. Candidates will have to sign twice in the Attendance Sheet presented by the Invigilator on duty; first after
taking their seats in the Examination Hall/Room and second at the time of handing over their OMR Answer
Sheet to the Invigilator.
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9. The candidates should not leave the Examination Hall/Room without handing over their OMR Answer Sheet
to the Invigilator on duty and signed the Attendance Sheet twice. Cases where a candidate has not signed
the Attendance Sheet a second time will be deemed not to have handed over the Answer Sheet and dealt with
as an unfair means case.

CHCS Ao TRIR TP I G FEIIS TAREC0A -7 5 Taaora w1 (rsw IS (IS R <A = o1 I
*IRCEA N | 3 T AP SRhrE™ Ao-« XM T A A o3 B T OMR Teera w1 I 03 90 I 92 9
e I Roircs 1 =3 |

10. Use of any type of calculating device is prohibited.
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11. The candidates are governed by all rules and regulations of the Board with regard to their conduct in the
Examination Hall/Room. All cases of unfair means will be dealt with as per rules and regulations of the
Board.
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12. No part of the Question Booklet and OMR Answer Sheet shall be detached under any circumstances.
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13. On completion of the test the candidate must hand over the OMR Answer Sheet to the Invigilator in the
Hall/Room. The candidates are allowed to take away this Question Booklet with them.
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